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N.B.: (1) Question No. I is cornprrlsory.
(2) Atte*rpt any 3 q,estio,s out of 5 q,estions.
(3) Figrrres to the right indicate ftill marks.
(4) Illustrate your answers r,vith sketches wherever lecessary.

Q.l Sol'e any four from remaining in six q,estions
a) What are the points taken in to accormt while selection of powerplants.
I})Howrairrfallarrdrun.offIneaSLlrenrentSarecarriedottt.?I
c) Explain the working of electrostatic precipitator u,it5 peat sketchd) \Mry combined power plants are advmta€;eous in tenns of pe.norrrrnrlce,/
e}trriteaslrortnoteonntlClearr,vastedisposal...]...
0 Explain the irnportance of load cun/e in designing the po*., pla,t.

Q.2
a) a particular site is given bello,r,r' for 12 u,eeks.

Week Weekly flor,l, nrt/sei
I 3000
2 2000
3 27$0
4 1000
5 750
6 _500

6007

I 2250
9 4000
l0 ?t)0
II 15110

t2 I 000
(i) Drarv hydrograph ffi

b) rxplgiii vanious pararnetcrs affecting the thermodynamic efficiency of combined cycles.

Q.s
u) , :I.'" *d pg*1',:,1:1T.-T:rg y supprv fo a svsrem whose maximurn load is r20 MW and' ' minimum load is-12 NIY^9,tilg 1,.1.* The-estimatei.orir orrrr.r. stations arc as folows:. . Cx=Rs.(120*tW*0.02gxkr,vh). . i

If the load varies as a sffaight rine, find for rnirimum cosr of generafion:
(i) Installed capacity of elcl slation.

I ' ' liiJr*e annqal load ftctor. capaciry factor and use factor of each machine.
': (iii) Thc'average cost ofprod.ction per kwh for the enhre ,vr*

Assume reserve capacity b f y as 22i/o. 
- - ---- -1'+" v eJ "wl

'b).Exptain BWR.w,ith rai rk ;ir. 
*'"
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reser\oir ancl the possible rate of available flow
(ii) with: help of urass qrrve, find tlie size of the
after fhe rescrvoir lras been built.

Dd+e ztIrlt?

illarks: 8t)

08

05

05

05

05

05

05

t2

t2

0tt

76,95:ie



DcrJ-e---Lel ,tlrq

Q.4

Q.s
a) Explain flow sheet and working of modern theruit power piant, t 

, ,

h) The incremental fuel cost for two geineratingrunits,l and:2,of a'poweqplant
dFl ,.
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a) The team station has two I l0 Mw units. Following costs data is given below.

Calculatc" flcllowing
(i) Annual plant cost and generation cost of unit A,.
(ii) Aulrlal plant cost and gencration cost of unit B.
(iii) Ovcrall generation cost of the sration

l)) Explain different rariff methods of electrical energy.

are:given as follows l0
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dF-2
,tn =0.075Pt+22

Where F is fuet cost in Rs,&our and p is ro*", output i, MW. Determine:
(i) The economi( loadingof the twolunits q,.hel the total load is supplied by the power plant is

(ii) The loss in fuel cost per hour if the load is eqqalty sharsd by both the unirs.

Q.6 Solve any four fronr remailring in six questions

a) Write slrort note on economic load.sharing in power plants.
b) Expl ain advantages and limitation$ of nucteaipower station.
c) Explairr PFtsC systelns.
d) Write short noie o.r coat handling systems.
e) Explain Rankine cycle with P-V and T-S cliagranr.
f) Compare hydro:electnc power plant with gas turbine power plant.

Particulars units A Units B
Capital cost (Rs) 24AA 3000

Fixed charge rate (%i l0 I0
Capital factor^ 0.5 5 0.60,1

Fuel consumption ( kg,&Wh ) I 0.9
Fue I cost ( Rs per 1000 kg) 96 96

Annual cost of operation, labor,
nraintenance iuld supplies (%

of amural fuel cost)

2A 15

IJtilization factor I I

i 695;2


